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b. If the rail freight from hometown to Minneapolis was 13¢ a 
bushel in 1970 and 71, 15¢ a bushel in 1972, 18¢ a bushel 
in 1973, and 20¢ in 1974, what is the hometown elevator rail 
basis for each date given in the above table? 
(This method of determining hometown basis is acceptable for 
developing history when local prices are not available. 
However, whenever possible, actual hometown prices should 
be used to determine local basis.) 

c. If in 1972 and 1973 there were no rail cars available and 
truck wheat was discounted 20¢ a bushel. The trucks were 
charging the same as rail freight. What was the hometown 
truck basis in those years? 

d. On March 1, 1974 Minneapolis September Wheat traded at 
about $5.45 and December wheat traded at about $5.46. The 
prospects looked good for the end of the box car shortage, 
and it was assumed the local elevator would have a margin 
of 10¢ a bushel for handling wheat. What could the producer 
at hometown reasonably expect ·for his wheat at harvest, if 
he sold Mpls Dec (December wheat used to offer longer 
time to complete delivery of grain) wheat futures on 
March 1? 

15. A farmer, who needed to purchase some additional oats for feed 
for use later in the year, had no storage available on his farm. 
Because of a firm conviction that oats would go up, on July 13, 
1973 he bought a unit of Chicago March oats at $1.08. On 
July 13 he could have purchased cash oats from his local elevator 
for 82¢ a bushel. The elevator would store oats for 2¢ a bushel 
per month. On January 15 the farmer had emptied his bin and was 
ready to take delivery of additional oats. He then bought cash 
oats from his local elevator for $1.41 per bushel. On that 
same day he sold his March oats futures for $1.56. What did his 
cash oats actually cost him? 
(See next page for worksheet. 



7/15/73 Present value of 
cash oats for 
purchase 

1/15/74 Bought feed oats 
@ 

Oats cost increase-decrease 
from 7/15 

Gross Price for Oats 

7/15 Bought 5000 bu. Chicago 
March oats@ 

1/15 Sold 5000 bu. Chicago 
March oats@ 

Gain or loss 

Cost for placing and closing the hedge 
Interest cost@ 9% 
(cssuming $900 Margin and $30 Commission) 

What would have been the cost per bushel if the farmer had 
bought 5000 bu. of cash oats July 15 and stored them in the 
elevator until Jan 15-74 

Cost of oats 
Storage per bu - 6 mo. 

Total 
Plus Interest cost@ 9% 
(Storage rate .2 cents per bu per mo) 

16. a. Where there are alternative crops that can be grown, compare 
the futures prices anytime ahead of seed buying or soil 
preparation time and see how they compare. Consider corn 
and soybeans as alternative crops on a randomly picked date 
of March 4, 1974. New crop (Dec) corn futures traded at 
about $2.98 and new crop (Nov) soybeans traded at about 
$6.26. If the recent harvest time basis for corn in your 
area has been 38 under, and your recent harvest time soybean 
basis has been 50 under at harvest; what could you expect 
for a harvest time cash price for corn ________ , for 
soybeans ________ on the basis of the current futures 
price? 

b. If your normal yield of corn is 80 bushels per acre and the 
normal yield of soybeans is 30 bushel per acre, how many 
gross dollars per acre would this mean for corn 
soybeans _______ ? 

c. If it cost $60 per acre to grow and harvest corn, and $45 
per acre to grow soybeans, which crop would be the most 
profitable to plant ________ , and by how many dollars 
per acre ? 
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